&0l & AP S

Al A

2020E & 20l &F 2 uHal
o100 X AISL
2 110 X2 Al
g 111 BEA (2r9:88)
.82 Ol &k 24 B ol by Bl =2
ES Al 546,925, 169 567,130,192 A 20,205,023
100 XAl =2 546,925, 169 567,130, 192 A 20,205,023
110 XI& Al 546,925, 169 567,130,192 A 20,205,023
11 2ESAl 536,733,169 556,587,941 A 19,854,772
111-03 =8l Al 32,980,218 27,967,261 5,012,957
[ Letsl A ] 32,980,218 27,967,261 5,012,957
< AR N2 > 2,480,000 2,371,000 109, 000
OFag=§-a 1,044,997
OMel 902,010
=K 10,000& * 72,353MICH * 85% 615,000
-AH & 50,0002 * 6,378 A& * 90% 287,010
owol 142,987
-X=32 1004 =, LA 1002 =1t
500,000 * 4JH&H QI * 93% 1,860
-A23 504~1004 Olat, &L & 1009 =t
350,000 * 2JH&H QI * 93% 651
-XA=3 509 =, LA 1002 Ol ot
200,000& = 220JH&H QI * 93% 40,920
X232 3021-502¢ 0I5, Z 1000l 0l3)
100,000& = 40JH&H 2l » 93% 3,720
-JIEtg el 50,0002 = 2,061JH& 1 * 93% 95,836
oM = 250& = 980,012m 245,003
A= 19,833,333,334& * 0.005 * 128 1,190,000
S MHETR NS > 4,164,049 3,612,228 551,821
oads=z 1,122,049
OHel 943,024
=4 K 10,0002 * 76,824 MICH = 85% 653,004
-AH & 50,000& * 6,237 * 93% 290,020
ogel 179,025
-A23 1009 =0, A 1002 =1t
500,000& = 11JH& Q1 = 93% 5,115
XE3 502 X1, ZAR 1002 0I5
200,000& = 210JH& 21 = 93% 39,060
X232 3021-50210/51, ZAA 1002 Ol 5t
100,000& » 41JH&H QI » 93% 3,813
-JIEtg el 50,0002 = 2,818 & 21 * 93% 131,037
OM&= 250& = 1,708,000m 427,000




& 100 X2 A=<
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Oll &F o & E 0l At Hr&E2
osgaEs 43,583,334,000& * 0.005 = 12& 2,615,000
<SHF AR > 19,857,169 16,927,999 2,929,170
ozs=& 1,639,425
Oel 1,300, 115
=X 10,0003 * 98,240MICH * 85% 835,040
A R=ES 50,000& = 10,3350 4 * 90% 465,075
ogel 339,310
-XNH23 1009 =1, SR 1002 =14
500,000& * 434 &H el » 93% 19,995
-AUHES 5024~10021015H, L& 1002 =t
350,000 * 51JH&Cl = 93% 16,600
-XHE3 502 =, Y 1002 016t
200,000 * 355JHE&H @1 = 93% 66,030
-X=23 30¥~5020l5t, SR 10020l 6t
100,000& * 52000 €1 = 93% 48,360
-JIEtg el 50,000&  4,0500H& el = 93% 188,325
O = 2503 * 8,357,376m 2,089,344
oszsgaE= 268,806,670,000& * 0.005 = 12& 16,128,400
<EER NRL > 6,479,000 5,056,034 1,422,966
ozZs& 1,008,015
O=4aXl 10,000& * 66,149MICH = 85% 562,266
OAMSE 50,000& * 5,672 2 * 93% 263,748
ogel 182,001
-XH=3 100 =2, SR 1002 =
500,000& * 15J0H&H @l = 93% 6,975
-X=32 50 ~ 100 Olch, & 1002 =t
350,000& * 10JHE& !l = 93% 3,255
-XAH=2 509 =, L&A 1002 Ol ot
200,000 * 271JH& el = 93% 50,406
-X=3 302 ~ 504 Olok, &€& 1002 Olot
100,000 * 63JHE €1 = 93% 5,859
-JIEtg el 50,0003 = 2,484JH& 1 = 93% 115,506
Otz 2503 * 2,690,382m 672,595
osga= 79,973,167,160& * 0.005 = 12& 4,798,390
111-04 TH & Al 125,314,971 109,915,008 15,399,963
[ LEH3IAH ] 125,314,971 109,915,008 15,399,963
<dER NRED > 22,878,000 18,208,000 4,670,000




& 100 X2 A=<
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Oll &F o & E 0l At Hr&E2
o8z 2,302,272,727,273% = 4.4/1,000 10,130,000
Od=F=EE 785,909,090,909& * 4.4/1,000 3,458,000
OEX=Z 2,111,363,636,364% * 4.4/1,000 9,290,000
< KNER NI > 24,843,000 24,252,008 590,992
o8z 2,328,382,272,818% = 4.4/1,000 10,244,882
OA=F=E 993,761,364,636& * 4.4/1,000 4,372,550
OEX=Z 2,323,992,749,318% = 4.4/1,000 10,225,568
<SHF AR > 46,408,000 40,664,999 5,743,001
o8z 3,385,909,090,909% = 4.4/1,000 14,898,000
Od=F=EE 2,490,909,090,909%& = 4.4/1,000 10,960,000
O&EXE 4,670,454,545,455% + 4.4/1,000 20,550,000
<HER AR > 31,185,971 26,790,001 4,395,970
o8& 1,885,788,011,000& * 4.4/1,000 8,297,467
Od=F=EE 1,611,090,910,000& * 4.4/1,000 7,088,800
O&EX =2 2,911,754,000,000& = 4.4/1,000 12,811,717
ogaJlez 679,088,000,000& =* 4.4/1,000 2,987,987
111-05 Xt= XAl 137,728,178 130,980,666 6,747,512
[ 2etsl A ] 137,728,178 130,980,666 6,747,512
< ME > 66,184,000 65,308,000 876,000
oO=2dE 16,907,600, 000 16,907,600
OoO2=gHNExXS 49,276,400,000& 49,276,400
<A N2 > 13,792,000 12,595,000 1,197,000
OFEF=PNE=IN; 13,307,489
OBl 21& 1000ce Ol ot 52,0008 * 6,055CH * 85/100 267,631
OBl 21E 1600cc Ol ot 3,474,163
-XorE 135,000 = 30,268CH * 85/100 3,473,253
-2YE 26,000& = 3504 910
OBl 2I1E 1600cc =1t 9,565,695
-XoHE 320,000 * 35,000CH = 85/100 9,520,000
-FYE 37,000& = 1,235CH 45,695
Osg st 177,970
OUHE AN & 15,960
-FYE 70,000& = 2280CH 15,960
Oxg M A 6,300




09 i 0

2= Al
Z.2-8-2 Ol &k o8 B ol by
-ggE 50,0003 = 12604 6,300
OUE Lt A 9,220
-ggE 42,0003 * 110CH 4,620
-XItE 115,000& * 40CH 4,600
OAs Yo A 146,490
-G E 25,0003 3304 825
APIE=] 65,000& * 2,2410H 145,665
Ost=2 Xt =t 286,476
OX A 1000kg O 6t
226,221
PIE= 28,500&  9,770CH * 80/100 222,756
-ggE 6,600& = 52504 3,465
OF M &gk 2000kg Ol 5t
9,780
PIE=1 34,500& * 330CH = 80/100 9,108
-EYE 9,600& = 70CH 672
O W= 2t 3000k 0I5
12,600
-AorE 48,0003 = 300CH * 80/100 11,520
-E2YE 13,500 = 80CH 1,080
O =2t 4000ke Ol 5f
8,910
APIE=] 63,000& * 150CH * 80/100 7,560
-89 E 18,000& 7504 1,350
OFTHEZ 5000kg O 6t
19,236
APIE=] 79,500& * 260CH * 80/100 16,536
-9 E 22,5003 =120CH 2,700
O W= 2 8000ke 0I5t
3,456
-XotE 130,500& * 30CH * 80/100 3,132
-89 E 36,000& = 9CH 324
OXTHE 2 10000kg O 6t
6,273
APIE=] 157,500& * 23CH * 80/100 2,898
-gg= 45,0003 = 75CH 3,375




gl

9,600& = 9204

& 100 XM=
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
OEx=Xs 12,455
(OP\/5=] 94,1008 = 5004 4,705
oggE 25,0008 = 310CH 7,750
OA& I 3,562
(OP\P 5=] 91,0003 = 22CH 2,002
oggE 65,0003 = 2404 1,560
O©O0IE Xt 16,0003 = 253CH 4,048
< MEF AR > 18,501,003 16,351,063 2,149,940
SEXS I 17,958,705
OB I1E 1,000cc Ot 52,000& « 7,632CH * 85/100 337,334
OB I1E 1,600cc Ot 2,932,128
-XoHE 135,000& = 25,507CH = 85/100 2,926,928
-EgE 26,0003 = 200CH 5,200
OHBHI1E 1,600cc =t 14,689,243
-XoHE 320,000& = 53,700CH = 85/100 14,606,400
-EgE 37,0003 = 2,2390H 82,843
Osg st 199,990
Olg Lt A 20,885
-E3gE 42,0003 = 27004 11,340
-XoHE 115,000& 8304 9,545
Oadg gt A 151,665
-ggE 25,0003 = 710H 1,775
-XoHE 65,0003 = 2,306CH 149,890
OUHEHMH A 17,990
-EgE 70,0003 = 257CH 17,990
OAxgHMH A 9,450
-EgE 50,000& = 18904 9,450
Ost= s 323,388
OATHHEE 1,000kg Ol t 217,954
-XoHE 28,500& » 9,428CH * 80/100 214,958
-E3gE 6,600 = 45404 2,996
OATHHEE 2,000kg Ol Gt 9,991
-XoHE 34,500& * 330CH = 80/100 9,108




& 100 XM=
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Oll &F o & E 0l At Hr&E2
OXTHHE 3,000kg Ol ct 14,501
-XoHE 48,000& = 333CH = 80/100 12,787
-EgE 13,5003 = 1270H 1,714
OXMAE 4,000kg Ol t 10,764
-XoHE 63,000& = 180CH = 80/100 9,072
-ggE 18,0003 = 94CH 1,692
OXTHHE 5,000kg Ol ot 14,396
-XoHE 79,500¥ » 17400 = 80/100 11,066
-EgE 22,5003 = 1480H 3,330
OATHHE 8,000kg Ol ct 10,846
-XoHE 130,500& * 77CH = 80/100 8,038
-ggE 36,0003 = 78CH 2,808
OATHE 10,000kg Ol ot 2,304
-XoHE 157,500 = 9CH = 80/100 1,134
-g3gE 45,000& = 2604 1,170
OATHHE 10,000kg =14 17,244
-XoHE 157,500& * 4404 = 80/100 5,544
-ggE 45,0002 = 26004 11,700
(O L PNE=DN; 25,388
-XoHE 94,1008 = 12904 12,138
-EgE 25,0003 = 530CH 13,250
(OFab=WIW;| 13,000
(OP\/5=] 91,0008 » 3004 2,730
oggE 65,000& = 158CH 10,270
O©0lE &t 5,920
OO0l & Xt 16,0002 = 37004 5,920
< ST AR > 21,650,175 20,314,812 1,335,363
OsEXsi 21,027,297
Ol I1'E 1000ccOl ot 569,265
-XoHE 70,000&  9,550CH * 85/100 568,225
-E3gE 26,0003 = 40CH 1,040
OBl I1'E 1600ccOl ot 2,242,112
-XoHE 185,000& = 14,250CH = 85/100 2,240,812
-EgE 26,0003 = 50CH 1,300




& 100 XM=
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
OB I1E 1600cc= 1t 18,215,920
-XoHE 480,000 * 44,480CH = 85/100 18,147,840
-EgE 37,0003 = 1,840CH 68,080
Osg st 192,085
OUHEHMH A 9,800
-ggE 70,0002 = 14004 9,800
OAxgHMH A 8,000
-EgE 50,000& = 160CH 8,000
Olg Lt A 11,410
-g3gE 42,000& = 80K 3,360
-XoHE 115,000& 7004 8,050
Oadg gt A 162,875
-EgE 25,0003 = 150H 375
-XoHE 65,0003 = 2,500CH 162,500
Ost= s 365,250
OATHHEE 1000kg Ol ot 246,930
-XoHE 28,500 * 10,700CH = 80/100 243,960
-ggE 6,600 = 45004 2,970
OATHHE 2000kg Ol ot 10,332
-XoHE 34,500& * 350CH = 80/100 9,660
-EgE 9,600& = 70CH 672
OATHHE 3000k Ol ot 156,195
-XoHE 48,000& = 350CH = 80/100 13,440
-EgE 13,500& = 13004 1,755
OATHHE 4000kg Ol ot 10,548
-XoHE 63,000& * 170CH = 80/100 8,568
-EgE 18,000& = 11004 1,980
OATHH & 5000kg Ol ot 16,995
-XoHE 79,500& * 200CH = 80/100 12,720
-EgE 22,500& = 190CH 4,275
OATHHE 8000kg Ol ot 13,680
-XoHE 130,500& * 100CH * 80/100 10,440
-EgE 36,0003 = 90CH 3,240
OATHH & 10000kg Ol ot 51,570




09 i 0

228 Off &4 & E 0l At Hr&E2
-XoHE 157,500& + 120CH * 80/100 156,120
-ggE 45,000 = 810CH 36,450
OEx=Xs 17,542
OoxrE 94,100& = 12004 11,292
oggE 25,0003 = 250CH 6,250
OAH&II N 40,001
OoxrE 91,0008 » 660K 6,006
oggE 65,0008 = 5230H 33,995
O©O0IE Xt 16,0003 = 500CH 8,000
<HEER AR > 17,601,000 16,411,791 1,189,209

Os8Xs 16,959,707
OB I1E 1,000cc Ot 405,579
-XoHE 52,000&  9,176CH * 85/100 405,579
OB I1E 1,600cc Ot 2,432,934
-XoHE 135,000& = 21,200CH = 85/100 2,432,700
-EgE 26,000& = 9O 234
OHBHI1E 1,600cc =t 14,121,194
-XoHE 320,000& = 51,5720H = 85/100 14,027,584
-E3gE 37,0003 = 2,530CH 93,610
Osg st 291,430
OUE XM A 4,340
-ggE 70,000& = 6204 4,340
OAgHMH A 3,550
-EgE 50,000& = 7104 3,550
ollggeg A 98,565
-EgE 420,000& = 22404 94,080
-XoHE 115,000& 3904 4,485
Ooagae A 184,975
-8 8 25,0003 = 410H 1,025
-XoHE 65,0003 = 2,830CH 183,950

O =PNE=PN; 329,437
OATHEE 1,000kg Ol t 264,228
-XoHE 28,500 * 11,450CH = 80/100 261,060
-EgE 6,600 = 480CH 3,168




& 100 X2 A=<
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
OATHE 2,000kg Ol ot 8,809
-XoHE 34,500&  298CH = 80/100 8,224
-EgE 9,600 = 61CH 585
OAMAE 3,000kg Ol at 14,359
-XoHE 48,000& = 343CH = 80/100 13,171
-ggE 13,5003 8804 1,188
OXTHEE 4,000kg Ol ot 7,376
-XoHE 63,000& = 11104 = 80/100 5,594
-EgE 18,000& = 99CH 1,782
OATHHE 5,000kg Ol ot 18,501
-XoHE 79,500& = 22904 = 80/100 14,564
-ggE 22,500 = 17504 3,937
OATHHE 8,000kg Ol at 8,280
-XoHE 130,500& * 60CH = 80/100 6,264
-g3gE 36,0003 = 56CH 2,016
OATHHE 10,000kg Ol ot 7,884
-XoHE 157,500& =+ 9CH = 80/100 1,134
-ggE 45,000 = 150CH 6,750
OEx=Xs 9,391
(OP\P 5= 94,1008 » 6504 6,116
oggE 25,000& = 131CH 3,275
(OFab=WIW;| 9,035
(OP\/5=] 91,0003 = 25CH 2,275
oggE 65,0002 = 10404 6,760
O©O0IE Xt 2,000
OO0l & Xt 16,0003 = 125CH 2,000
111-07 i A HIAl 55,200,002 55,000,007 199,995
[ Letsl A ] 55,200,002 55,000,007 199,995
< HE > 55,200,002 55,000,007 199,995
O =i A HI Al 1,007 = 4,568,0242 » 12& 55,200,002
111-08 A2 A HI Al 24,806,800 0 24,806,800
[ el A ] 24,806,800 0 24,806,800
< HEL > 24,806,800 0 24,806,800
O Xl A4l Al 24,806,800,000& 24,806,800




09 i 0

bl
g
oo
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0l &t o

& & Off &t

l

Hns2

2912 =1 200

no
S
S
10
o
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w
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]
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292 =1 200

3,000 & =1t

= 293 =1t 2004

39,910,000,000& * 10/100

21,800,000,000& = 1/100

& 0lot

81,050,000,000& = 2/100

@ Olot

99,045,460,000& * 2.2/100
83,720,000,000& * 2.5/100

53,580,000,000& * 10/100

41,740,000,000& = 10/100

163,846,400,000& * 1/100

& 0lot

158,357,900,000& * 2/100

& 200&0@ =1t 3,000&0& Ofat

114,711,282, 727& * 2.2/100
32,589,200,000& * 2.5/100

82,440,000,000& * 10/100

121,380,000,000& = 10/100

550,000,000,000& * 1/100

& Olat
500,000,000,000& =* 2/100

20044 @ =1t 3,000 & Ol at

345,454 ,545,460& * 2.2/100

1,036,000,000,000& = 2.5/100

340,420,000,000& =+ 10/100

160,703,000
160,703,000

15,460,000
15,460,000
3,991,000
6,111,000
218,000

1,621,000

2,179,000
2,093,000
5,358,000
20,562,000
20,562,000
4,174,000
8,144,000
1,638,464

3,167,158

2,523,648
814,730
8,244,000
95,180,000
95,180,000
12,138,000
49,000,000

5,500,000

10,000,000

7,600,000

25,900,000

34,042,000

232,724,999
232,724,999

18,870,000

26,441,000

151,098,999

AT72,021,999
AT72,021,999

A 3,410,000

5,879,000

255,918,999




& 100 X2 A=<
2 110 XAl
g 111 E3Al (Sl &&)
Z2-2-8-5 Off &4 & E 0l At Hr&E2
<HEER AR > 29,501,000 36,315,000 A6,814,000
OAEE 29,501,000
ONe A= 59,710,000,000& * 10/100 5,971,000
OgoAs 13,387,000
-AEE 293 0ldt 87,500,000,000& = 1/100 875,000
-AEE 293 =1 2004 0l of
334,700,000,000& * 2/100 6,694,000
“AIEE 20049 @ =t 195,591,000,000& = 2.2/100 4,303,002
-HNEZE 3,00003 =t 60,599,920,000& * 2.5/100 1,514,998
Osgd=+ 101,430,000,000& =+ 10/100 10, 143,000
13 AHEE+ 10,192,000 10,542,251 A 350,251
113-01 Xidtd =g 10,192,000 10,542,251 A 350,251
[ 2etsl A ] 10,192,000 10,542,251 A 350,251
<A NRL > 2,175,000 1,866,000 309,000
oundE =g 2,175,000
02019 DI & == 3,453,000,000%& = 40/100 1,381,200
O2018F 0l& 018+ 3,969,000,000& = 20/100 793,800
< MHER NSRRI > 2,491,000 3,005,000 A514,000
ound =g 2,491,000
0201948 0| & == 4,208,000,000% = 45/100 1,893,600
02018 0l& 018+ 2,987,000,000& = 20/100 597,400
<SEHF N2 > 3,325,000 3,020,037 304,963
ound =g 3,325,000
0201948 0| & == 6,765,688,000% = 33/100 2,232,677
O2018F 0l& 018+ 6,827,021,500& = 16/100 1,092,323
<EER NRL > 2,201,000 2,651,214 A450,214
OudEE =¢ 2,201,000
020198 0| & == 2,869,102,300% = 45/100 1,291,096
O2018¢ 0l& 018+ 4,549,521,995% = 20/100 909,904




